—fix=5T(33159F266 K8 THDEF

(RERFEEICHREI NEHR/T237H4TH)

AR SHEEBLUEESE 1E1TI94H6FH FHiE 1F225754FH
ERHS LUFHE 289TF762H9FH RHE  4E8437H2FH
FEINA 187F819H6FTH #BAE - 6f876257FH
BAEIA 1F274733FH

Z0ftt 16{82F782/7FH (9.7%)

mAREE
ReHe 169{87F150752FH
11{861753FM
(6.5%)
1753438
35{&318%55FM

(20.6%)

Se4&Ba% 82T 218751FM (4.8%) WESH 1R1T8125H (0.7%)

WER 7 HERZME 6/86T17101FH ERERHEERSAEDIINBMRZSE

w754 1F451H6FH 2F873/8FH
BHBEREHXME 2T64A81TH BEZHIIXRGE 3F8895H7FH
FFEIRHE 1F22754FH #HAFREMRSEI(GE 3T84458TH

RBREXMRERRME 69556FH

;E 1:% % g%%g l.b\. Eﬁ:g ﬁﬁqé% ‘ﬁﬁ?%‘ﬁﬁ?%
6 3 % =2y =) HAg HAF g5 HAF = HA D
i B SEXABEY SSoE U8 SS4@ B
b o 8 a>168¥ 447%%%‘8%%‘.{%;‘;ﬁ667}¥
5 2 9 2 & EEE R 302 = 2538 g8
% i 7 278 ey o T3 & TTRE mu g
A 2 FF3 | 6T @ 6 6 2 178w 2203
= = 5 455 Sd 17 8 ot 8 767F 172
M R} 8 9 8 B9 F 5F':JH1?_|‘ 2 4 5 3 &=
4 9 F M7 2= A% 23 F
5 bi} 2 ?'f:¥93 F 2
114 [4]¢ £ A N G
IO
i BT AW T g
%/ - N
HEGm FED BRL Y BRL N mEE
TEEE TEE GriB B,
1 0 4 4 33 11 )
A K 1 = g
2 31 2 33 & 1% 67 ¢ T F
2409 2638 78HE @Ee 55 =B
0 809 1 g 3 TTRFE 147 00 2
Ooni g L8 2oBRm T2 00
7 3 4 287 38 5
2 . 8 5 4 12%”,_:99
! me izl 28 857
o o 77 7575._,-':.]
+ F 2 8 F NN
MM a, T T N 7 N\
- n - T

(SR BREES 4 #19. RESHEERRRK S 0. ERERERS - NERRE 20185 (FA30%) 12A5H 10
6 BN DM R TY.) HIROMM L BR- T -BH A OEREE CFIALS, EHRZEDLE



